(B . F9)

o BX] B y EIR
ke | il EF] 2F | we e | i
- — 3 =
E6E B B % B
HH =71
1. 7kPikiE
() RWE -Fy B
AARN (55400 M10X16um 0000 H./ ke 193
AARIVE(55400) M12X16m 0000 M ke 177
AEFIL - (55400) M10X20m 0000 M./ ke 193
AFAFRIL L (55400) M12X20m 0000 M/ ke 176
AEAILE (55400) M14X20m 0000 M. ke 193
AARILE (55400) M16X20m 0000 H/kg * 152
AERIL L (55400) M10X25m 0000 M/ ke 197
AAFIVE (55400) M12X25m 0000 F./ke 171
AARIE_(55400) M14X25m 0000 M/ ke 193
AARL L (55400) M16X25m 0000 M. ke 150
AARIL (53400 M10X30m 0000 M/ ke 197
ABRI L (55400) M12X30m 0000 M/ke 178
AAFIL R (55400) M14X30m 10000 M/ ke 192
ATV (55400) M16X30m 0000 B ke 151
ABFIL B (55400) M20X30m 0000 M. ke 151
AARI B (55400) M22X30m 0000 M ke 156
AARN (55400 M24X30m 0000 -{A ke 161
AEAILE (55400) M10X35m 0000 M. kg 197
AARIVE(55400) M12X35m 0000 H ke 179
AR b (55400 M14X35m 0000 M/ ke 193
AAR)E_(55400) M16X35m 0000 M/ ke 151
AARI B (55400) M20X35m 0000 M/ ke 151
FREAFRI E_(S5400) M22X35m 0000 M ke 156
AFARIE(55400) M24X35m 0000 M/ ke 161
A& _(55400) M10X40m 0000 M/ ke 189
ANARILE_(55400) MI12X40m 0000 ks | #-3-Pb>
RAR (55400 M14X40m 0000 M/ ke 192
AARIL L (55400) M16X40m 0000 M. ke 151
AAR) L ($5400) M20X40m 0000 M./ ke 152
AR (55400) M22X40m 0000 F./ke 156
AARILb_(55400) M10X45mm 0000 M ke 187
BRIV R (55400) M1 2 X245 0000 ke | #-3-Pbo
kk16_H i & xIs 1/16
(BifHh : ™)

PP it E I T — Bl %
AR (55400) M14X45m 0000 B ke 194
AARIL L (55400) M16X45m 0000 P ke 151
AAFI L (55400) M18X45m 0000 M. ke 246
AATI L (55400) M20X45mn 0000 ke 152
AARIL B (55400) M22X45m 0000 M ke 156
ATV~ (55400) M2 4 X4 5un 0000 Fl/ ke 161
AARI (55400 M10X50um 0000 F./ke 185
AR E_(55400) M1 2 X50m 0000 B/ ke | 3E-3-P65
AARIL E_(35400) M14X50m 0000 M. ks 193
RATIY E_(55400) M16X50m 0000 M/ ke | #-3-P65
ANARI L (S5400) M18X50mm i M./ ke 247
AL E(55400) M20X50mn i g | B3P
AATIYE_(55400) M2 2 X5 0nn kg | E-3-
AATIYE_(55400) M2 4 X5 0mn A/ ke | &-3-
BRI B (55400) M30X50mm 0000 M./ ke 214
SARI(55400) M10X55mm 0000 M/ kg 3
AARIV F_(55400) M1 2 X5 500 0000 M. ke | #-3-P6b
AAR) E(5S400) M14X55m 0000 M. ke 194
AARI L (55400) M16X55m 0000 M/ kg - 151
AARINE_(55400) M18X55m 0000 M/ ke 246
RAFIVE (55400) M20X55m 0000 M ke 152
AARI B (55400) M22X55m 0000 M/ ke 157
ALk (55400) M24X55m 0000 M ke 161
AARI B (55400) M30X55m 0000 M/ ke 214
AATIV L (55400) M10X60m 0000 M/ ke 184
ARARIYE_(55400) M12X60m 0000 M/ ke | #E-3-P65
AARI L (55400) M14X60m 0000 M/ ke 194
RARIY L (55400) M16X060m 0000 1 /kg | #E-3-Pby
AARIN b (55400) M18X60mm 0000 H/ke 246
AT Y K _(53400) M2 0 X6 0mn 00D ke | #E-3-P
RERILE (55400 M2 2 X60mm/ 000 g | #Z3p
ABFILF_(35400) MZ24X6 0nn ke | #-3-
AR b (55400) M30X60m 0000 A ke 214
AATI | (55400) M36X60m 0000 M ke 738
AARILE(55400) M10OX65m 0000 H./ke 183
REAETIV (55400 M12X65m 0000 M./ ke | BE-3-P65|
AAEFI L (§5400) M14X65mm 0000 M/ ke 193
AEFRI I (55400) M16X65m 0000 M/ ke 15]

kk16 BEHEER E.xs 2/16



(Bl - /)

B s T — i .
AERIN (55400 M18X65m 0000 M/ke 247
AR L (55400) M2 0 X6 5m 0000 M. ke 152
AARIN L (55400) M2 2X65m 0000 P ke 156
AER) N (55400 M24X65m 0000 M./ kg 161
AARN L (85400) M30X65mm 0000 A/ ke 214
ARARIY T (55400) M36X65m 0000 M. ke 238
AARI B (55400) M10X70m 0000 M/ ke 180
AATIVE_(55400) M12X7 Omn 0000 A ke | EE-3-P6b
AARL R (55400) M14X70m 0000 A/ ke 194
AARIVE_(35400) M16X70m 0000 5 ke | &-3-Pho
AR E (55400) M18X70mm 000 M. ke 246
ARV E_(55400) M2 0 X 7 0mn B/ kg | E-3-P
ANARIYE_(35400) M2 2 X 70 kg | &-3-
AR E_(55400) M24X70m 0 kg | 2-3-
AARN L (55400) M30X70m 0000 M/ ke 214
AT E (55400) M36X70m 0000 M. ke 238
AARIN L (55400) M10OX75m 0000 M. ke 179
AAT L (55400) M12X75m 0000 A/kg | #-3-P65
AT B (55400) M14X75m 0000 M./ ke 194
AATIL L (S5400) M16X75m 0000 M. ke 151
AATN B (55400) M18X75m 0000 M/ ke 246
AAFRI L (55400) M20X75mm 0000 M ke 152
AARN b (55400) M22X75m 0000 M. ke 157
AATL L (55400) M24X75m 0000 M ke 161
AARNE(55400) M30X75m _ 0000 M ke 214
AAFN B (55400) M36X75mm 0000 H./ke 238
AATFIE_(55400) M10X80m 0000 Mk | #§-3-P53
ARV (55400 M12X80m 0000 M/ ke | #-3-P65
AARIE(55400) M1 4X80mn 0000 P/ ke 223
AATR)L E_(55400) M16X80mm 0000 ke | &-3-P65
AARI L (SS400) M18X80m 0000 M. kg 247
AR E_(55400) M2 0X80mn B/ ke | &3
AATILE_(35400) M2 2X80mm 0000 ke | -3
RAR)L K_(35400) M2 4X380m kg | #&-3-
AARILE_(55400) M30X80m 0000 M ke 214
AARIN B (55400) M36X80mm 0000 F./ke 238
ABRINE (55400) M4 2X80m 0000 P/ ke 261
ABARIL L (55400) M10X85m 0000 M. ks 226
kk16_4 =R {&.xls 3/16
(B4 . [)
B ot R T — i1 %
AR F_(55400) M1Z2X85m 0000 ke | #-3-P6b
AR (55400 M14X85mm 0000 H./ke 222
AARN (554000 M16X85m 0000 M. ke 152
AAXIL L (55400) M18X85mm 0000 H/ke 247
AAFIV . (55400) M2 0X85m 0000 M. ke 152
AARIN (55400 M22X85m 0000 M. ke 156
ABFI (55400 M2 4 X85 0000 M/ke 161
“AARN T (S5400) M30X85m 0000 M./ke 214
AARI (55400 IM10X90m 0000 F./ke | #-3-P53
ARATIVE (55400) M1 2 X9 Omn 0000 kg | #-3-P6H
AARN L (55400) M14X90m 0000 . ke 223
RETIE_(55400) M16X90nn 0000 M./ kg | #-3-P65
RARI b (55400) Mi1i8X90m 000 [/ kg 246
AATI L (55400 M20X90mm 0 ke | E-3-P
ABRIV L (55400) M2 2 X9 0mn ke | #-3-P
ARV E_(55400) M2 4 X9 0mn i/ ke | #-3-Pb
AERJLE(55400) M30X9 0me 0000]. M/kg 214
AATI (55400 M36X90m 0000 M/ ke 238
~AFIN (55400 M42X90mm - 0000 F/kg 261
AARI b (55400) M1 0X7100mm 0000 M/ ke | #-3-P53
AARILE_(55400) M12X100m 0000 M/ ke | #-3-P65
ABATI T (55400) M14X100mm 0000 M./ ke 223
AT E_(55400) MI1GX10O0m 0000 H_ ke | #-3-P65
AARILE(85400) M18X10O0m 0 ./ ke 247
AR E (55400) M20X100mn . g 3t-3-
RARILE_(SS400) M2 2X100m kg | &Z-3-
AATIVE (5540 M24X100m 0000 M/ ke | #-3-
AAFIV I (S5400) M30X100mm 0000 M/ ke 214
AR R (SS400) M36X100mm 0000 “{H ke 238
AARIE(55400) M4 2X10 Omn 0000 P1./ke 261
AR (53400) M48X100mm 0000 M. ke 285
AERNE (55400) M10X11Opnm 0000 F/ke | #-3-P53
AAFRI . (55400) M12X110mm 0000 F/ke | %5-3-P53
ARV E_(S5400) M14X11Omm 0000 M. ke 223
RERILE_(55400) M16X110mm 0000 M ke | #-3-P65
AAERILE(55400) M18X11Omm 0000 P/ ke 247
AETIVE_(55400) M20X110mm 0000 B ke | ¥#-3-P65
AAENE_(S3400) M22X110m 0000 M/ ke 156

178

kk16_tB#E% i xis 4/16



(B : F)

o TEX| B o -
B4 Ak ey NG B TETE k2
AEBRIL B (55400) M24X110mm 0000 M./ ke 161
AARIE_(55400) M30X110mm 0000 P ke 214
AARI L (55400) M36X110m 0000 M. ke 238
AAFIL L _(55400) M42X110m 0000 M. ke 261
AATILE(55400) M48X110mm 0000 M ke 285
AARIL b (55400) M10X120m 0000 M/ ke | #5-3-P5
RARI E_(55400) M12X120num 0000 M. ke —3-P5
AEXI B (55400) M14X120um 0000 B/ ke 22
AATIVE (55400 MI16X120mn 0000 F ke | E-3-P6
AR E_(55400) M18X120mm 000 M/ kg 247
AARIVF_(55400) 20X120m 000 H/ke | B-3-
RATIVE_(55400) 22X120m 000 g | &Z-3-
AARIVE_(55400) MZ24X120m 0 M ke | #-3-
AARILE_(S5400) M30X120mm 0000 M. ke 214
AAFIE(55400) M36X120m 0000 M/ ke 238
AARI T _(S5400) M42X120m. 0000 M ke 261
AAFIE(55400) M4 8X120un 0000 M. kg 285
AAFR)F_($5400) M10X130mm 0000 M ke | #5-3-P53
AAFIE (55400) M12X130mm 0000 H/ks | $-3-P53
AARIE (55400 M14X130m 0000 M. kg 223
AATIVE(S5400) M16X130mm 0000 M/ kg | #-3P6>
ARAFI B (55400) M18X130umn 0000 Fl./ke 247
AT (5S400) M20X130m 0000 M ks | #-3-P6>
AARI B (55400) M22X130mm 0000 M. ke 156
AAFIVE_(55400) M24X130mm 0000 M. ke 161
AAFIVE_(55400) M30X130m 0000 M./ ke 214
AARIL b (55400) M36X130mm 0000 A./ke 237
AAAILE_(S5400) M42X130m 0000 M/ ke 261
AAFIVE_(55400) M48X130mm 0000 A/ ke 285
AARI | (55400) M10X140m 0000 M ke | -3-P53
ANATIYE (35400 M12X14Onn 0000 M ke | #-3-P53
AARI | (85400) MI14X140m 0000 M. ke 222
| RARIV F (53400 M16X140m 0000 M/ ke | #-3-P65
ABATIV B (55400) M18X140nm 0000 M/ ke 24
AFRIVF_(55400) M20X140m 0000 M kg | #-3-P65
AERI L (55400) M22X140m 0000 H/ ke 157
ARELRI B (55400) M24X140m 0000 A/ ke 161
AEFIV L (55400) M30X140um 0000 M kg 214
kk16_H e {H.xls 5/16
(B4 : )
o BR] Em " )
&% i | e | B EE fii %
AR (55400) M36X140m 0000 ~ 1M ke 237
AAFIV T (S5400) M42X140m 0000 M. ks 261
AL b (55400) M48X140mm 0000 P/ ke 285
AAXI E(55400) M10X150m 0000 ke | #§-3-P53
ATV B (SS400) MI2X150m 0000 H/ke | #-3-P53
AARIE (55400) M14X150mm 0000 B/ke 223
AR E_(55400) M16X150m 0000 . ke —3-P65
AARILE(55400) M18X150um 000 M/ ke 247
ATV R (55400) MZ20X150m 0 s | B3
AERIVE_(35400) M22X150mn 0 g | #-3-
ANARIVE_(55400) M24X150mn 000 /kg | -3
ABEFI L (55400) M30X150mm 0000 M/ ke 214
ARV (55400) M36X150nm 0000 M. ke 238
AAFI L (55400) M4 2X150m 0000 M. ke 261
AARIE(55400) M48X150m 0000 M. ke 285
AABFIE_(55400) M10X160m 0000 M/ ke 226
ARV E(55400) M12X160um 0000 H./ke 228
AARIE(55400) M14X160mu 0000 H/ ke 223
AARI B (55400) M16X160pm 0000 M ke 199
AAEFI L (35400) M18X160mm 0000 M/ ke 218
AAFR)E (55400) M20X160nm 0000 M/ ke 199
AARE(55400) M22X160mm 0000 H/ke 204
ARAFI L (55400) M24X160m 0000 M ke 214
AARI L (55400) M30X160mm 0000 M/ ke 214
AARI b (55400) M36X160mm 0000 M. ke 238
AAEFI L (55400) M42X160mm 0000 M/ ke 261
AEFI L (55400) M48X160nmm 0000 M ke 285
AAARIL R (55400) M10X170mm 0000 M. ke 224
AATIL L (55400). M12X170m 0000 M/ ke 227
AATI K (55400) M14X170mm 0000 M./ ke 223
AARI - (55400) M16X170mm 0000 M/ ke 199
ABFN b (55400) M18X170mm 0000 M./ ke 218
AR (55400) M20X170mm 0000 H/ ke 199
AR b (S5400) M22X170m 0000 M/ ke 204
AARI K (55400) _IM24X17 O 0000 M ke 214
AATIV (55400 M30X170mm 0000 A/ ke 214
AEFI (55400 M36X170mm 0000 M./ ke 238

kk16_t&#E%{H.xIs 6/16



(48 : 1)

o TR] Eim ”
un% ﬁ*g 1- -} ?—ﬁL 15T1H {ﬁ%
AR (55400 M4 2X170mm 0000 M. kg 261
ARV (58400) M48X170mm 0000 M ke 285
AARNE (55400 M10X18O0mm 0000 A/ ke 225
AR b (55400) M12X180mnm 0000 M ks 228
AATRIE(55400) M14X180mm 0000 M/ ke 223
AR T (S5400) M16X180mm 0000 M. ke 199
INATRI L (55400) M1I8X18O0mm 0000 M./ ks -2
AARIE_(55400) 20X180mn 0 kg | #a-3-P>
AARIL (56400 22X180m 0 g —3-P54
AARIVE_(5S400) M24X1280mm 0 B/ ke | -3-Pb¢
AARINE_(55400) M30X18O0m 0000 M./ ke 214
ABERI L (55400) M36X180um 0000 M. ke 238
AEFRI B (85400) M42X180mm 0000 M ke 261
AARNE (55400 M4 8 X 18 0mn 0000 M ke 285
ANATI B (S5400) M10X190mm 0000 Bke 226
AARI (55400 M12X190m 0000 M/ ke 228
AR (55400) M14X190m 0000 M. ke 223
AARIN L (55400) M16X190m 0000 M/ ke 199
AAFI L (85400) M18X190m 0000 B/ke 218
AARINE (55400 M20X190m 0000 M ke 199
AR b (55400) M22X190m 0000 H./kg 204
AARI b (S5400) M24X190mm 0000 M/ ks 214
ARARIN (55400 M30X19O0mm 0000 M ke 214
ARARIL L (55400) M36X190nm 0000 A/ ks 238
AERN L (55400) M4 2X19 0mn 0000 M. ke 261
AR - (S5400) M48X190m 0000 M/ ke 285
AARIN T (55400 M10X200mm 0000 M/ ke 226
AAXRI - (55400 M12X200mn 0000 M. ke 298
ABRI . (55400) M14X200nm 0000 A/ kg 223
AAERINE (53400) M16X200nm 0000 H/ke | 8-3-P53
AARN B (S5400) MI8X200mm 00 b kg 21
ANARIY F(55400) MZ20X200un 0 H/ke | H-3-P5
| AARJLE(55400) M2 2X200mm 0 M.7kg | #-3-P54
SATIY F(55400) M24X200m 00 ke | #8-3-Fb4
AARINE (53400 M30X200m 0000 M. kg 214
AARINE_(55400) M36X200mn 0000 M/ ke 238
AERI - (S5400) M4 2X200mn 0000 A/ ke 261
kk16_MHRER iR xls 7/16
(B4 : ™M)
oy i I T — %
AAFINE (55400) M48X200mm 0000 M. ke 285
AARN (55400 M4 2X22 08 0000 M./ kg 261
ABFN . (55400) M48X220m 0000 M/ ke 285
AARI L (S5400) M42X240m 0000 M. ke 261
AABI - (S5400) M48X240m 0000 M /kg 285
AARI L (S5400) M42X260m 0000 P/ ke 261
AFRIN L (55400) M48X260mn 0000 M/ ke 285
AR (S5400) M42X280m 0000 ke 261
AATI L (55400) M48X280m 0000 M/ ke 285
AT L (53400 M4 2X300m 0000 M. ks 261
AARE(55400) M48X300m 0000 M./ ke 285
AARIVE_(SUS304) M8 X 2 0mun 0000 M/ ks 706
AAR - (S1S304) M10X2O0mnm 0000 FH.ke | #-3-P68
AARIN - (SUS304) M12X2O0mm 0000 F./ke 713
AAFINE_(SUS304) M8 X 2 5m 0000 B ke 707
AR (SUS304) M10X25mm 0000 fH/ke | #-3-P68
AARNE_(SUS304) M12X25m 0000 FM.ks 711
ABEN B (SUS304) M16X25m 0000 M/ ke 664
ARV (SUS304) M8X 3 0m 0000 M. ke 712
AARIVE_(SUS304) M10X30um 0000 M. ke | @&-3-P68
AARIE_(SUS304) M12X30m 0000 M ke | #-3-P68
AARN b+ (SUS304) M16X30m 0000 H/ke 664]
AAR b (5US304) MB8X35m 0000 F1/ke 709
ARV (SUS304) M10X35m 0000 M ke | #-3-P68
AARIF_(SUS304) M12X35m 0000 M/ ke | #-3-P68
AAAIL L (SUS304) M16X35mm 0000 M/ ke 665
AR (SUS304) M8X 4 0mn 0000 M. ke 70
AARF_(SUS304) M10X40mm 0000 M ke | #-3-P6
ARV (SUS304) M12X40un 0000 M./kg | #-3-P68
AARN b (SUS304) M1 6 X4 0mn 0000 Fl ke 664
AARIL L (SUS304) M20X40m 0000 P/ ke 711
AfRIE_(SUS304) M8 X4 5m 0000 P/ ke 708
AARI ~_(SUS304) M10X45m 0000 F/ke | ##-3-P68
AAXINE_(5US304) M12X45m 0000 M.ke | 3#-3-P68
AARI L (SUS304) M16X45m 0000 Pl ke | #-3-P68
AARIN b (5US304) M20X45mm 0000 M. ke 705

180

kk16_H# a5 .xIs 8/16



(B4 - M)

]

BE

ER

LRE Rig | T B HE
ARERIN L (SUS304) M8 X5 0mm 0000 M./ ke 711
AR b (SUS304) M10X50mn 0000 B./%kg 712
AfARN b (SUS304) M12X50mm 0000 8./ ke 111
AAR)L - (SUS304) IM16X50mm 0000 M ke | #:-3-P68
AR (SUS304) M2 0X50mm 0000 M./ kg 708
AARN L (SUS304) M8 X5 5mn 0000 M. ke 710
ARV (SUS304) M10X55m 0000 A./ke 712
AARI - (SUS304) M1-2X55mm 0000 B ke | #-3-P68
AARN b (SUS304) M16X55mm 0000 M/ ke | $#-3-P§8
AARI . (SUS304). M2 0X55m 0000 A/ ks 705
AARIVE (SUS304) M8 X6 0mn 0000 A ke 711
AR (SUS304) M10X60mm 0000 M. kg 710
7R (SUS304) M12X60mn 0000 B/ke | #-3-P68
ARBRN b (SUS304) M1 6X60mD 0000 B ke | ¥-3-P68
AfER)L b (SUS304) M20X60mp 0000 M ke | #-3-P68]
AR (SUS304) M8 X6 5mn {0000 H/ke 710
AR b (SUS304) M1O0X65mm 0000 M./ke 111
AR b (SUS304) M12X65mm 0000 M kg | #-3-P68
AR (SUS304) M16X65mm 0000 B ke | #-3-P68
AAHERNE (SUS304) M2 0X65m 0000 H./ke | 3#-3-P68
AR K (SUS304) M8 X7 0mn 0000 M/ ke 712
AR (SUS304) M10X70mn 0000 M./ke 712
_ANARNVE (SUS304) M12X70m 0000 M ke 712
NARIN L (SUS304) M16X70mn - 10000 M/ ks | #-3-P68
AR (SUS304) M20.X70mn 0000 M ke | #-3-P68
- AR (SUS304) M8 X7 Smm 0000 B/ke 710
AR (SUS304) M10X75mm 0000 B/ ke 712
AR b (SUS304). M12X75mn 0000 M./ ke 712
7SRRI b (SUS304) . M16X7 58 0000 M /ke 663
AR b -(SUS304) M20X75mm 0000 A/ ke | #-3-P68
AfR)L b (SUS304) M8 X8 0mn 0000 A/ ke 710
AR (SUS304) M10X80mm 0000 M. ke 711
AARILE_(SUS304) M12X80mm 0000 1B ke 712
AARN L (SUS304) M16X80mn 0000 M ./ke 661
ARl b (SUS304) M20X80m 0000 M./ kg 710
AR (SUS304) M10X85mm 0000 H/ ke 710

kk16_t# M {5 xIs 9/16
(BE4E : @)

o B i - EIR my

g Hig | Ty B a7y il &
AR B (SUS304)- M12X85mm . 0000 H./ke 712
ARV b (SUS304) M16X85m 0000 M/ ke 663
AfR)V b (SUS304) M2 0X85mn 0000 A/ ke 710
A& (SUS304) M8X9 Omn 0000 A ke 712
AR K (SUS304) - M10X90rm 0000 M/ ke 711
CRAHRI B (SUS304) IM12X90mn 0000 M. kg 712
AR b (SUS304) M16X90mn 0000 M/ ke 659
AR b (SUS304) M20X90m 0000] . M ke 710
AAR b (SUS304) M8X100m 0000 B/ks 711
AARJL - (SUS304) M10X10O0mm 0000 MB/ke 711
AR (SUS304) M1.2X100mm 0000 H/ kg 712
AARN L (SUS304) M16X100nm 0000 M/ ke 663
AATN L (SUS304) M20X10O0nm 0000 M/ kg 709
MR b (SUS304) MI10X35mm 0000 H/ ke 1, 670
MR b (SUS304) M12X35m 0000 M/ ke 2. 000
m7R)L b (SUS304) M16X35mm 0000 M/ ke 2, 100
)Lk (SUS304) M10X40mp 0000 M ke 1,610
AR b (SUS304) M12X40mn 0000 M/ ke 1. 860
ML B (SUS304). M16X40mn 0000 H/ke 1, 940
ARV b (SUS304) M10X45m 0000 B/ke 1. 530
MR, b (SUS304) M12X45m 0000 M/ ke 1, 830
W)L b (SUS304) M16X45m 0000 A/ ke 1, 940
mAR) b (SUS304) M10X50m 0000 M./ks 1, 500
mAJL b~ (SUS304) M12X50mm 0000 M./ kg 1, 800
AL b (SUS304) M16X50mm 0000 M/ ke 1, 830
MRV (SUS304) M10X55mm 0000 B/ ke 1, 640
maR)L b (SUS304) M12X55nmm 0000 M/ke 1. 890
M)V b+ (SUS304) M16X55mm 0000 M./ ke 1,920
maR)L b+ (SUS304) M10X60mn 0000 H/kg 1, 590
)L (SUS304) M12X60m 0000 M/ke -1, 800
)L b (SUS304) M16X60mm 0000 M./ ke 1, 830
ALk (SUS304) M10X65m 0000 A/ ke 1, 560
AL b (SUS304) M12X6 5 0000 M. ke 1,770
AL b (SUS304) M16X65m 0000 M ke 1, 820
AR b (SUS304) M10X70mm 0000 M. ke 1, 540
MLk (SUS304) M12X70mm 0000 B ke 1. 790

181

kk16_t8 4% i xIs 10/16



(B4 : P9)

o WX B oy

nn% /‘ﬁ*g‘ 1-} -} ﬁﬁL AH1A ﬁﬁ%
MA)L b (SUS304) M16X70mm 0000 M. kg 1, 770
AL - (SUS304) M10X75m 0000 M ke 1, 550
MA) b+ (SUS304) M12X75m 0000 B./ke 1,700
ML b (SUS304) M16X75m 0000 H./keg 1,720
I:R)L b (SUS304) M12X80mm 0000 H/ke 1, 650
W)L+ (SUS304) M16X80m 0000 M./ kg 1, 770
J v b (55400) M8 0000 M kg | - 202
F v b (55400) M10 0000 B/ke 203
Fw b ($5400) M12 0000 H/ks 206
F v b (55400) Ml4 0000 M/ ke 198
F v b (S5400) M16 0000 B/ ke 162
F v b ($5400) M138 0000 H/ke 220
Fw b (55400) M20 0000 M/ ke 169
F v b (S5400) M22 0000 M ke 176
Fv bk (55400) M2 4 0000 M./kg 226
Fw b (55400) M30 0000 M./ ke 248
F v b+ (55400) M36 0000 HA/kg 260
F v b (58400 M42 0000 M ke 347
T b (S5400) M4 8 0000 M./kg 372
Zw b (SUS304) M8 0000 M. kg 847
J v K (SUS304) M190 0000 B/ ks 1,008
Zw b (SUS304) M12 0000 M./ ks 1,084
JF v (SUS304) M14 0000 M/ ke 1, 388
Jw b (SUS304) M16 0000 MH/ke 905
F v b (SUS304) M18 0000 M kg 1, 382
F v b (SUS304) M20 0000 Mk 1,077
F v bk (SUS304) M22 0000 M kg 1, 559
Jw b (SUS304) M24 0000 B/ks 1, 491
Fw b (SUS304) M27 . 0000 HB/ke 1, 489
Fw b (SUS304) M30 0000 M/ ke 1, 486
F v b (SUS304) M36 0000 M /ke 1,573
Fw b (SUS304) M4 2 0000 M./ ke 1, 541
Frv b (55400) M8 0000 M/ ke 431
£ v b (55400) M10 0000 M/ kg 380
v b (55400) M12 0000 M ke 387
& b (55400) M14 0000 H./kg 593

kk16_ e {f.xds 11/16
(B4 : @)

o K] Eim

E B v | b B —ETE e
£ v b (55400) M16 0000 M/ ke 455
£+ b (55400) M20 0000 B ke 583
7w b (55400) M22 0000 M./ kg 621
5w b (55400) M24 0000 M/kg 782
£ b (55400) M27 0000 M/ke 966
£ v b (SUS304) M8 0000 H/kg 2, 444
5w b (SUS304) M10 0000 M/ ke 2,423
£ v b (SUS304) M12 0000 A/ kg 2, 401
%+ b+ (SUS304) M14 0000 M. kg 3,074
£ b (SUS304) M16 0000 M ke 2, 658
£&F v b (SUS304) M20 0000 M. ke 2, 848
&3 v b+ (SUS304) M24 0000 M./kg 2,789
JEEBRI - (S5400) M12X160nm 0000 M ke 352
JIEERER) b (55400) M16X160m 0000 M/ ke 252
JIERR)) ~ (S5400) M12X200m 0000 M. ke 313
J BERRIN b (55400) M16X200mm 0000 A/ ke 226
JEERERIL - (S5400) M20X200m 0000 M /ke 258
J I ERER )L b (55400) M12X250m 0000 M. kg 319
JIERBT)) b (S5400) M16X250m 0000 M ke 210
JIRERRN b (S5400) M20X250m 0000 M kg 242
JERFLE (55400) M12X315m 0000 M. ke 304]
JBEREN B (55400) M16X315mm 0000 M ke 200
J REBERIL b (S5400) M20X315mm 0000 H/kg 228
JIEEBEAR L b (S5400) M12X400mn 0009 M/ kg 216
JIBEBERI B (55400) M16X400Omn 0000 A/ ke 192
J BEERI b (55400) M20X400mm 0000 M/ke 214
B ERR )L b (55400) M12X500mm 0000 M/ks 264
JIBEER)L B (SS400) M16X500mn 0000 M ke _182
JBEBERL b (S3400) M20X50Omn 0000 M keg 203
IR EER)L b (S3400) M24X500m 0000 M/ ke 202
J EEBAI ~ (55400) M20X630m 0000 M/ ke 203
JIBEBARIL b (55400) M24X630mm 0000 M/ kg 205
J ERR b (S5400) M20X800mm ‘[o00g M/ ke 192
T BERER )L B (SS400) M24X80 Onn 0000 M ke 194
J T ERER )L b (SS400) M20X1, 000mD 0000 M./ ke 188
JIBEEAR) B (55400) M24X1, 000mn 0000 M kg 185

182

kk16_HEHER 5 xIs 12/16



(B4 : P9)

BX[ B | ape R
E Bk | 3-8 BN 7R — %
J ERBRI B (55400) M24X1, 250m 0000 A/ ke 188
L BEBERIL b (S5400) M12X160mm 0000 H.ke - 314
LBERERIL b (55400) MI12X200m 0000 B/kg 331
LBERRIL b (55400) M16X200nm 0000 M/ke 254
LIBEBERIL b (55400) M12X250mm 0000 HB/ks 295
LEBRL E (S5400) MI1GX250mm 0000 M/ke 225
LIgERER)L b (S5400) M12X315m 0000 M ke 274
LBEREARIL b (S5400) M16X315mm 0000 B/ ke 216
LEBEIL k- (55400) M20X315mm 0000 M./ke 220
LEEAIL & (55400) M12X400mm 0000 M/ke 259
LEBRIL b (55400) M16X400mm. 0000 M./ ke 205
LIBE#EFRIIL b (55400) M20X400mn 0000 B/ ke 210
LEERFL bk (55400) M12X500mm 0000 M /ke 236
L ERHRIL N (S5400) M16X500mm 0000 F/ke 189
LIE#R)L b (88400) M20X500mm 0000 | A/ke 197
(2) &5 - &5 - HEEEDS :
EO—-5—¢110~120 RFEBEE S  SC450 0000 MB/ke 610
BESL¥p—- REBEEE S SC450 0000 B /ks 610
FREEXY— (F—A4fD RESBEEMMA  SC450 0000 M/ke 610
FO—-5—¢110~120 BN V& SCNn2B 0000 M./ ke 700
EO—5—¢110~120 VR bR SCMnCr3B {0000 MB./ke 805
EO—-5—¢110~120 JuhE)7 § /RESEE&  SCCrM3B {0000 MH./ke 705
AFABAZ ) D AEHEEY  PBC2 0000 B ke 2. 300
B AT ) - WBIA L)) EeREEY  LBC3 0000 M./ ke 2. 000
B AL, - WEIAS I S8R BC 3 0000 M/ ke 2, 000
BREAEE RS, BHE RT A8 FC200 0000 M./ ke 530
B/HE hTHEHH FC250 0000 B ke 530
[ ] hyAgEEs FC250 0000 M kg 530
BBSE HIRENSESED  FCD450 0000 M./ke 935
FRS RTHEEES (458  FC250 0000 M. ke 599
7239 TH RTHEESLD (458  FC250 0000 M/ ke 665
AT (k> ) RTHEHFSESE (4%  FC250 10000 Fl/ke 823
kk16_HEHER {8 xls 13/16
(B4 : )
iy ’ WX Efm o ER .
R B k| ar | Y TETE i
o ERKBR@BER (1F)  FCD400 - 450 {0000 M/ ke 927
PURRZ _ |RREEM G SC450 0000 1M ke 3. 060
hy )y REBSHS  SC450 0000 M/ ks 1, 290
ERYT (FRE - 197 0y - Zoi) [ATEH U:I?} 0000 M./m3| 151, 000
1. oftgd, AR BEERNDHDET S,
2. EERMIIENR UM E L. S8HOMENEET S,
3. AEHOBMHIIMILTD
(3) A5~ L Z St - s K VEREERRER
GRIEIERT VAR A -2 SUS304 2=t <3 0000 M/ ke | #-3-P47
REEIE AT VAR '\' Mg SUS304 3=t <§ 0000f M ks | #i-3-P38
BABIEIEATY VAR N -2 SUS304 0=st=14 0000 M/ke | $8-3-P38} - ’
RBUEEAT VAR 1328 5US304 6< £ <10 6000 M/ ks 10 AN -2 3t <6
BEEEAT VAR IEA IR SUS304 14< t =25 0000 M./ ke 10 V-3 WS I<14
BEEEATVARE 13 SUS304  25< t =40 0000 : M/ ke 20 N1 S tSU4
BTV AR I3Ab R SUS304  40< t =65 0000 M./ ke 30 -2 WS t<14
[ X5 VXN SUS304 2= 6 <100 0000 F1.7ke | Z-3-P43
AT LV ASE - 13abisl SUS304 100< =150 0000 H./ ke 20 -2 2BS $ <100
AT LVAEE 13308 SUS304  150<< =200 _ 0000 H/ke 30 -7 250 =100
AT L AHE A 2 SUS403 - 25 o =100 0000 M/ ke 310 -
ATV ASEE 1558 SUS403  100<< o =150 0000 M/ ke 20 N -l B H =100
7\7-/1/;(%#% L¥Ab B SUS403  150< ¢ =200 0000 M/ ke 30 N -2 <o <100
16 H [R5 A - Mit& |S150~S50C  25= ¢ =100 0000 M/ ke | 2-3-P49
BEmheE B R E WA 18ab38l |S15C~S850C  100<<p =150 0000 M/ ke 2 -2 BZHS100
BRES A ik EWMA 13238 1S150~S50C  150= ¢ <200 0000 P/ke 4 -1 B HS100
HEASE B iR A 1¥abo%E |S15C~S50C  200< ¢ =250 0000 M./ke 6 N -1 25 & <100
BEWURE B R EREA 132h5 1S150~850C  250< =300 0000 B/ ke 8 N -1 255 =100
L QOBEIR—AEETHSD, RFAEMICTIITNE. MHENRERTRY 5y TER BRSO &, i

2 ()0 TEERMEFMMASC4501 DEMIZDWTIIAEA ¢ 300mU T T, MIEENEMAbOIZDNTE
(3) it s B IR RSB S 16C~S50C) DERFERT B,

(4) KBIA

KEIL (P e 0000 kg 3, 860
KET L (P JBZE) 20~50 0000 ke 3, 860
KETL (PIFZE) 50~70 0000 ke 3, 860
KETL (PR 0% 0000 ke 3, 860
KETL (PB) 20~50 0000 kg 3,860
AKEIL (BB 50~70 0000 ke 3, 860
KEITL (LB ES 0000 ke 3, 860

kk16_tHRER B xIs 14/16
183



(B4E - M)

Y P I T — G e
REIL (LI 20~50 0000 kg 3, 860
KEITL (L) 50~170 0000 kg 3, 860
KREIL CFE) 10K - 0000 ke 3, 750
KEIA (T 10~30 0000 ke 3. 750
) EREKETLOBERERIL. Falk0BRa b 5.

. &E .&§H8dLA (yOO7L—2F)

2. BEEE :14. TN /mm2 (150kgcm2) LAtk

3 WKE: BEETEKY

4. WEWIEFOMTN : 300% L

5 BBEE i 3 THEEE40~8D

6. B :1.25g /cnl
(5) NvFx> (GEIAL)
ESACTE=IN) 500_10%E® 5600 B K | 3700
NwF2 (BTN 600  10B(~20%% 0000 B/ % 3, 430
NyExr (BRI 700 108k 0000 [P 4 5, 230
NuEL (BRIL) 700 104~20%¢ 0000 H/#% 4, 500
NoFr (BRIL) 800 10Kk 0000 M/ 1,920
NyEr (L) 800 10%c~204 0000 M/ # 7,200
Ny¥x2 (BN 900 10Kk 0000 M/ #% 9, 000
NoF (BRRIAN) 900 108~20% G000 H/% 8. 110
NwFxr (BRIL) 1, 000 I08ckES 0000 A/ 9.910
NyF (ARILY 1, 000" 108c~20% 0000 A/ 9, 000]
NyFr (BRIL) 1, 100 10#ck#s 0000 B/ 10, 800
NwFE (BTN 1, 100 10#%~20%¢ 0000 M8 9,910
NuF > (EEITL) 1,200 1040kES 0000 M/ -11, 700
NyvEy (BRRIN) 1. 200 108c~20%% 0000 M/ & 10, 800
NwF> (BRIL) 1,350 108k 0000 H/% 13, 900
NoFr (BRRIL) 1, 350 108r~204% 0000 [P 4 12, 600
NyFy (BRRTLH) 1. 500 108k 0000 B/ 14, 400
NyF (BRRIL) 1,500  108t~20%% 0000 B/ 13, 500
NvExr (ERIL) {1, 600 108k 0000, B/ % 15. 600
NyF 2 (BRIL) 1,600 J08c~20%% 0000 B/ &K 14, 400
NuEx> (BRdL) 1, 650 10BCK#H 0000 A% 17, 600
NwF2 (BRIL) 1, 650 10&~20# 0000 M/ % 16, 200
NoFEr (BRIN) 1, 800 108k 0000 [P 18, 900
AR C-1 =N 1, 800 10%c~20#% 0000 B/ 18, 200
NyFEr (BRIL) 2. 000 108k 0000 M/ & 21, 600

kk16_{#HER fH.xls 15/16
: (354 : )
Py it I T — 23 %

NyEr (BN 2, 000 J0&~204% 0000 [P 15, 800
NyF2 (ARRdL) 1, 800 2, 600. 108k 0000 B % 10, 800
NyEr (BEIL) 1, 800X 2, 600 10Br~20# 0000 [P d 9,910
NwF (BRIL) 2. 000X 2 900 108K 0000 M/ #% 10, 800
NyE2 (FRIL) 2, 0002, 900 108t~204¢ 0000 MK 11,700

184

kk16_t3RER IR xs 16/16



